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3 digit addition (no regrouping)

Addition Worksheet

Find the sums.

928 + 900 =

771 + 12 =

509 + 550

175 + 223

94 + 503 =

153 + 706 =

11 + 372 =

332 + 903 =

811 + 66 =

471 + 603 =

680 + 200 =
32 + 641
342 + 233
744 + 340
591 + 606
803 + 132
946 + 902
996 + 801
702 + 277
752 + 731

114 + 714 =
346 + 920 =
32 +653 =
213 + 923 =
502 + 561 =
927 +332 =
723 + 164 =
193 + 502 =
212 + 46 =
207 + 542 =
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3 digit addition (no regrouping)

Addition Worksheet

Find the sums.

928 + 900 = 1,828

/71 + 12 = 783

509 + 550

1,059

175 + 223

398

94 + 503 = 597

153 + 706 = 859

11 + 372 = 383

332 + 903 = 1,235

811 + 66 = 877

471 + 603 = 1,074

680 + 200 = 880

32 + 641 = 673

342 + 233
744 + 340
591 + 606
803 + 132
946 + 902
996 + 801
702 + 277
752 + 731

575

1,084

1,197

935

1,848

1,797

979

1,483

114 + 714 = 828
346 + 920 = 1,266

32 + 653 = 685

213 + 923 = 1,136

502 + 561 = 1,063

927 + 332 = 1,259

+

723 + 164 = 887

193

+

502 = 695

212 + 46 = 258

207

+

542 = 749
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